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skl. O.Jefimova-Gabiene  TEST 5  9 klasei  (07.03.11.-11.03.11.)

Exercise 1 Expressions of quantity                                                                         Exercise 2  Which one is different?

Tick (() the correct sentence.                                                                Underline the one word in each group that is 

                                                                                                                 different.

1   Is there any milk? I can't see one.                                                                   Example

     Is there any milk? I can't see any.                                                                   Castle   cathedral    cottage   house
     Are there any milks? I can't see them. 

                                                                                                     (You can’t live in a cathedral.)
	1    language    translator    dictionary    art

2    poem    story    joke    sing

3    handbag    wallet    suitcase    purse

4    mobile phone    fax    photography    e-mail

5    video    iron    Walkman    CD player

6    make-up    soap    toothpaste    towel

7    untidy    messy    dirty    clean

8    break    smash    mend    destroy

9    hairdresser    shopkeeper    customer    banker

10  tomorrow    morning
yesterday evening

11  worried    nervous    friendly    excited

12  impossible    careful    unemployed    illegal

13  speak    talk    print    tell

14  posters    magazines    books    newspapers

15  butcher's    greengrocer's    chemist's    baker's
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Par katru pareizu atbildi – 1 punkts.

        Kopā  15  punkti.



 2   There's some potatoes, but only a little.

     There's some potatoes, but only few.

     There are some potatoes, but only a few.
3   There's much cars parked in the street.
     There are a lot of cars parked in the street.

     There are lots cars parked in the street.

4   Have you got much unemployment in your town?
     Have you got the unemployment in your town?

     Have you got much unemployed people in your town?

5   Only a few people believes his story.

     Only a little people believes his story.

     Only a few people believe his story.

6   How much homeworks do you have tonight?

     How much homework do you have tonight?

     How many homeworks do you have tonight?

7   There aren't many rice and there aren't any eggs.             

     There isn't much rice and there isn't any eggs.                                              Exercise 3 Words that go together
     There isn't much rice and there aren't any eggs.                                         Match a line in A with a line in B.
	A
 B

	

	tell
driver

spend
work

	hard
abroad

say
a bill

make
money

take
sorry

sore
a joke

taxi
throat

pay
a photograph

go
a promise

	

	


8   There was much snow last winter.

     There was a little snow last winter but not many.

     There was some snow last winter but not much.

9   How lovely! Somebody gave you some flowers.

     How lovely! Anybody gave you some flowers.

     How lovely! Somebody gave you any flowers.

10 I went anywhere very interesting for my holiday.

     I didn't go anywhere very interesting for my

     holiday.

     I didn't do anywhere very interesting for my

     holiday.

Par katru pareizu atbildi – 1 punkts.

        Kopā  10  punkti. 
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                                                                                                   Exercise 3  Words that go together.
                                                                                                1 ____________________________

                                                                                                2 ____________________________

 3 ____________________________

 4 ____________________________

 5 ____________________________

 6 ____________________________

 7 ____________________________

 8 ____________________________

 9 ____________________________

                                                                                                                                     10____________________________
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Par katru pareizu atbildi – 1 punkts.

        Kopā  10  punkti.
Kopā par 1.  2. 3.         uzdv.  35  punkti    ………………….    

Good luck!

